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Agenda

01
THEORETICAL RECAP

The Relevant Cost of Labour

03
THEORETICAL RECAP

The Relevant Cost of Direct 
Materials

02
EXERCISE 51

The Canoex Company

04
EXERCISE 52

The Industrial Company



01
Theoretical Recap

Relevant Cost of Labour



The Relevant Costs of Labour

Does the company use 

casual labour? 
[Workers hired on daily 

basis or to do overtime]

No

Does the 

company have 

temporary spare 

capacity?

Yes

Scenario 1

Relevant Cost = 0 (irrelevant for ST decision 

making)

No

Scenario 2

Company is working at full capacity and there 

will be reduction of existing activity if a 

specific order is accepted

Relevant Cost = hourly labour rate + 

opportunity cost (contribution lost for 

accepting the order)

Yes

Scenario 3

Company hires extra workers/overtime in 

order to satisfy the extra orders needed

Relevant Cost = cost of casual labour

Mateus Rodrigues, 2020



02
Exercise 51

The Canoex Company



03
Theoretical Recap

Relevant Cost of Direct Materials



The Relevant Costs of Direct Materials

Is the 
material in 

stock?

Yes
Is the material 

used regularly?

Yes

Scenario 1

Materials will eventually need to be 
acquired to meet other production 
demands. Relevant Cost is cost of 

acquisition of materials at current market 
price

No

Scenario 2

If materials are not utilized in a new project 
they will have to be scrapped or utilized in 
an alternative used. Relevant Cost will be 
the higher between the Scrap Value and 

the Value of the alternative use

No

Scenario 1

Materials need to be acquired and so 
Relevant Cost will be the cost of acquisition 

of materials at current market price

Mateus Rodrigues, 2020



04
Exercise 52

Industrial Company
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